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Answer any eight from the following :
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(@)

(b)
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(e)

(g)

(h)
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What is C++?
C++ e 2

What is an object ?
Object 2

What is class ?

"Class & 2

What is inheritance ?
Inheritance & ?

What is concrete class ?
Concrete class & ?

What are data members ?
Data members 32 & 2
What is a data structure ?

Data structure &2

Give examples of non linear data structure.

Non linear data structure 5 Twizs¢ 3 |
What is sequential allocation ?

Sequential allocation & ?

[2]

1x8=8

() What is LIFO ?
LIFO % ?
(k) Give two examples of header files used in C++.
C++9 756/ header files ¥ Gnizgd izl
() What is database ?l
Database & ?
(m) What is LAN ?
LAN & 2
Answer any ten from the following : 2x10=20

MO I 3113 1 07 M o B IO B |

(@)

(b)

Define polymorphism.
Polymorphism-§ 7ga! 3 |

State the advantages of object oriented programming

languages.

| Objlect oriented programming languages I JRAIER Sz 341 |

()

(@)

Define member function.
Member function ¥ % @ |
Define constructor.

Constructor-9 g% Wa |
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Define pointer.

Pointer-§ 5! o4l |

Define non—prinﬁtive data structure.
Non-primitive data structure-3 sge! &4l |
Define two-dimensional array.
Two-dimensional array-?ﬂ’ sigesl |

Give examples of DBMS.

DBMS-9 Gwiel |

State the categories of SQL.

SQL= MR e 31|

State two uses of Boolean algebra.
Boolean algebra-3 70 IRRATR GE 1 |
What is the use of Truth table ?

Truth table 3 I 2

What is POS in Boolean algebra ?
Boolean algebra © POS 52

What is Bandwidth ?

Bandwidth f&?

What is FTP ?

FTP & 2

[4]

3. Answer any nine from the following : 3x9=27

OoTl [z 961 2NE ©ed 4 2

(@)

(b)

()

(@)

(e

(9)

(h)

()
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Explain the concept of function overloading.

Function overloadingd concept (bl J&i2 & |

Briefly describe the concept of base class and deri\-red class.
Base class 9 derivéd class 3 R 5 361 1 |

Describe about dynamic memory allocation.

Dynamic memory allocation ¥ g iz &4 |

Compare static data structure with dynamic data structure.
Static data structure 9% dynamic data structure I_ﬁ’ Weidl 41 |
Write the difference between primary key and candidate key.-
Primary key @ii%: candidate key 9 i<y &

State the applications of Karnaugh Map.

Karnauéh Map I JREFHR St 4 |

Give examples of different data transfer rates.

R[Sy ei<9 data transfer SRS TiEEe frd |

Differentiate WAN and MAN.

WAN 9% MAN T i<y &2 |

Write three properties of XML.

XML ¥ [OMb! properties {2l _
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4. Answer any three from the following :

e

(@)

(b)

(d)
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State the differences between Worm and Trojan horse.
Worm 9% Trojan horse-=3 212y f&7i |

Compare 3G with 4G technologies.

3G ¥ 4G el 41|

State the uses of different aggregate functions in SQL.

SQL § aggregate function 323 IR T 9
Describe the operations applicable to Queue.

Queue © IS (Il operations R 3¢t = |

5x3=15
RicpIcal fofabl e Teq 5 ¢

Explain the differences between Stock and Queue.

Stock ®I% Queue-d APz @I Bl |

Write a C++ program to create a matrix of order 4x4.

«bl 4x4 matrix create {79 qld C++ © @6f program &7l |
Explain three different network topologies.

o5 network topology < A3tz &2 &t |

Explain the concept of Cyber Law and Cyber Crimes.

Cyber Law 9 Cyber Crime ¥ BRIk Tﬁﬁ GE

[6]

(e) State De Morgan’s law and explain the applications of it.

-

' De Morgan’s law (Bl T(Eil €1 Wi ©F TR &= |

() Explain the advantages of C++ programming language over

other programming language.

W programming language= 8789 C++ I JRYIEN I &1 |
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